=1

=~

07661 INEARBEELRET

> R

el HAE

e BESCAE,

BR:

ATRARRNERTE,

iTHS EA
PIEREL
D1

07661-804 M4
07661-805 M5
07661-806 M6
07661-808 M8/M8x1
07661-810 M10/M10x1,25
07661-812 M12/M12x1,25
07661-814 M14/M14x1,5
07661-816 M16/M16x1,5
07661-818 M18x1,5
07661-820 M20/M20x1,5
07661-822 M22x1,5
07661-824 M24/M24x2

© norelem www.norelem.com



